1.  Given y =2x+5 find the inverse and place both lines in the same graph.
2. Given p(x) = -x-2 / x-5 find the inverse and give me both rational expression in separate graphs.

Give vertical asymptotes for each. 

3.

	List the potential and actual zeros of

Using RZT

A] Potential zeros ______________________________

B] Actual zeros ________________________________

C] Determine the end behavior 

D] Give x- and y- intercepts. List them as pairs

E] Determine multiplicity and its behavior

F]Determine how many turning points

G]Sketch the graph by hand and by using mathematica.
H] solve the polynomial using the solve function in mathematica

	P(x)= x^3-2x^2 – 5x + 6
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4. Using mathematica draw the exponential function f(x) = 2^-(x+3)  +1

5.Using mathematica draw the inverse of the exponential in question 4. 

